&

il

6

ok




AT

£ g g - Rt iE B{r = fili * &
BRI 7,440,780 + 289, 642 7,730, 422
EEAGE 7, 440, 780
EERE 289, 642
Z Ot R A 7,440,780 x 53.85% ( 35% + (1 — 35% ) ) 4,006, 860
EZ il 7,730,422 + 4,006, 860 11,737,282
—REEEE 11,737,282 x 53.85% ( 35% <+ (1 — 35%) ) — 7,808 6,312,718
EHImE GRETER) 11,737,282 + 6,312,718 18, 050, 000
ERANER 22,382,598
R 19,599,598 x 61.6% — 5, 950 12,067, 402
REEEE 22,382,598 + 12,067, 402 34, 450, 000
e 18,050, 000 +34, 450, 000 52,500, 000
HBEMERLE 52,500,000 x 10.00% 5, 250, 000
e EHT 52,500,000 + 5,250, 000 57, 750, 000




FF PR

£ [z R - IR Bifs g i & &
B %R 7,730, 422
STE - BAR - AEEER 7,730, 422
BLHEEAEER 7,730, 422
BLHERE 7, 440, 780
REEESH 433, 500
1 SHE#E 1.00 433, 500 433,500
=
RRE 3,934, 080
2 EOERFEMT 24.00 110, 640 2, 655, 360
=]
3 MEEER 1.00 1,278,720 1,278,720
=
BEEERRAE 1,716, 200
4 2R - BER 1.00 1,716, 200 1,716, 200
=
FERBEOEBERYE LD 896, 600
5 AEMRNBERYE LD 1.00 896, 600 896, 600
%
W& - e 441, 200
6 ERitniz 1.00 121, 800 121, 800
=
7 hRAHE 1.00 121, 800 121, 800
[
8 JiRME 1.00 197, 600 197, 600




FF PR

% L R - KT Bify g fifl & #
MR 19, 200
9 AFRAMRERER 1.00 19,200 19, 200
=
E#ERE 289, 642
BEY 140, 000
10 EHERBEEERK 1.00 140, 000 140, 000
=
EHRARE 149, 642
N EBRARE 1.00 149, 642 149, 642
=
ERIEE 22,382,598
KEBRE - REEVATER 22,382,598
mRAE 7,673,670
mRAE 7,673,670
REER 327,543
12 SAE#R 1.00 327,543 327, 543
=
e 7,346,127
13 MEREHEB MR 1.00 158, 589 158, 589
=
14 FREREHERE 6.00 265, 442 1,592, 652
H
15 FREEHE 6.00 151, 681 910, 086
H
16 ERlgREH (GRm - FREED 1.00 3, 000, 000 3, 000, 000
=
17 SRR EEN OKE - 595D 1.00 1, 684, 800 1,684, 800




FF PR

% L R - KT Bify &2 fifl & #
BEARRAE 8,165, 763
REER 271, 235
REER 271, 235
18 AE#EE 1.00 271,235 271, 235
=

BEMTS U FUBE 779, 208
BEMTS U FUBE 779, 208
19 BEM 7500 FURE 8.00 97,401 779, 208

=
ELEEMRE 194, 800
ELEEMRE 194, 800
20 EEEYRE 4.00 48,700 194, 800

=
TEEMRE 822, 352
TEEMRE 822, 352
21 [FEEMRED 4.00 102, 794 411,176

H
22 FEEMRED 4.00 102, 794 411,176

H
KEEMRE 3,315, 168
KEEMRE 3,315, 168
23 KEEMRED 25.00 119, 818 2,995, 450

H
24 KEEYRED 2.00 159, 859 319,718

R




FF PR

% L R - KT Bify &2 fifl & #
SIHTEER 2,783,000
SIHTEER 2,783,000
25 STERER 1.00 2,783, 000 2,783,000
=
RRAE 3, 640, 344
RRAE 3, 640, 344
HaR R 3, 640, 344
26 HIRRR 24.00 151, 681 3, 640, 344
=
EEEE 2,902, 821
EEEE 2,902, 821
EE ] 2,902, 821
21 REERM 1.00 2,902, 821 2,902, 821




(N(IES

ES: 1
27 - EtEEE =1
4 fu Hg - KA BT H = B ] 1 5 &
HEnR
A 1.00 75, 800. 00 75, 800
EXE3:1016 6 )
A 1.50 64, 800. 00 97, 200
HEm (A)
A 2.50 57, 000. 00 142, 500
HEm (B)
A 2.50 47,200.00 118, 000
& H 1YEXEBESN - 1.00K 433, 500. 00 433, 500
5:2
2 ECERARMT NEEW
[ Hg - KA BT H = B ] 1 5 &
HER (B)
A 1.20 47,200.00 56, 640
R (C)
A 0.75 38, 400. 00 28, 800
HitT g
A 0.75 33, 600. 00 25,200
& H 1EEREH - 1.00/E 110, 640. 00 110, 640
&5 :3
B REEER 1*=Y
£ fa Hig - k& B B = B % bici 5 =&
EXEETACH))
A 0.80 64, 800. 00 51,840
HER (B)
A 19. 80 47,200.00 934, 560
HitT g
A 8.70 33, 600. 00 292, 320
& g 1E%E8EH - 1.00K 1,278, 720. 00 1,278,720




(N(IES

BS54
2 fRAT - ER 1KY
4 fu Hg - KA g H = B ] 1 5 &
EXE3:1016 6 )
A 3.00 64, 800. 00 194, 400
HEm (A)
A 5.00 57, 000. 00 285, 000
HEm (B)
A 8.00 47,200.00 371, 600
HEm (C)
A 11.00 38, 400. 00 422, 400
Hittg
A 13. 00 33, 600. 00 436, 800
& H 1YEXEBESN : 1.00= 1,716, 200. 00 1,716, 200
&S :5
2% AEBRROEERYELYD 14y
4 fu Hg - KA g H = B ] 1 5 &
EXEETACH))
A 2.00 64, 800. 00 129, 600
HER (A)
A 3.00 57, 000. 00 171, 000
HER (B)
A 5.00 47,200.00 236, 000
R (C)
A 5.00 38, 400. 00 192, 000
HitT g
A 5.00 33, 600. 00 168, 000
& g 1EZEREH - 1.00K 896, 600. 00 896, 600
ES5:6
&7 - BHItHE IEED)
fa Hig - k& B B = B % bici 5 =&
EXEETACH))
A 1.00 64, 800. 00 64, 800
HER (A)
A 1.00 57,000. 00 57,000
& it 1YEZHESD - 1.00[H 121, 800. 00 121, 800




(N(IES

E55:1
2% PREHmE 1EHY
4 fu Hg - KA g H = B ] 1 5 &
EXE3:1016 6 )
A 1.00 64, 800. 00 64, 800
HEm (A)
A 1.00 57, 000. 00 57,000
& it YEXEESD - 1.00[H 121, 800. 00 121, 800
%S5 :8
2 RIRIRE =ED)
4 fu Hg - KA g H = B ] 1 5 &
HEnR
A 1.00 75, 800. 00 75, 800
EXEETACH))
A 1.00 64, 800. 00 64, 800
HER (A)
A 1.00 57, 000. 00 57,000
& it YEXEESD - 1.00[H 197, 600. 00 197, 600
&5 :9
2% ~FRARRRERIER =)
4 fu Hg - KA g H = B ] 1 5 &
R (C)
A 0.50 38, 400. 00 19, 200
& it 1EZEREH - 1.00K 19, 200. 00 19, 200
&5 :10
27 - EHETHREEER 1X5Y
£ fa Hig - k& B B = B % bici 5 =&
EXBHRRRE
= 1.00 140, 000. 00 140, 000
& it 1EZEREH - 1.00K 140, 000. 00 140, 000




(N(IES

E5: 1
2 BEARE ECD)
% 7 B - TR T A Bfi 5 B B & 1 [
SHERARR
H 1.00 149, 642. 00 149, 642
& &t EFREN - 1.00x 149, 642. 00 149, 642
&5 :12
27 AEE 1250
7 Bk - kT A BfL n E B & 1 W=
AEE R
A 2.00 54, 600. 00 109, 200
AR K
A 3.00 47,100. 00 141, 300
AR RE
A 2.00 36, 900. 00 13, 800
AR EY7 Yo
% 1.00 324, 300. 00 3,243
& & EFREN - 1.00x 327, 543. 00 321, 543
&5 13
£ - FEEEB AR BT
% # Bk - kT A BfL n E B & 1 W=
AR
A 1.00 47,100. 00 47,100
AR BE
A 3.00 36, 900. 00 110, 700
AR EY7 Yo
% 0.50 157, 800. 00 789
& & EEREN - 1.00L 158, 589. 00 158, 589




(N(IES

&S 14
B REETERE HEEY
o) [ I - BKTE B B = i ] W = 5 &

REBE 4 kN2 2L

H 0.70 3, 525. 00 2,467|2.00H / 8H
A FRP D 70PS%!

H 0.70 79,707.00 55,794 |8H
bilh=g5:01]

A 0.70 47,100. 00 32,970
bilh=g 540k

A 0.70 36, 900. 00 25,830
RIEBNF

A 0.70 34, 600. 00 24,220
BAKE(FA3—) 10mLL £ 20mk %

A 0.70 56, 600. 00 39, 620
BAKTHBIE (B4 /3—) 10mLL _E20msk %

A 0.70 56, 600. 00 39, 620
@y g

A 0.70 29,700. 00 20,790
MM 2E0Y

% 10. 00 241,311.00 24,131
& H YEXEED - 1. 00 = 265, 442. 00 265, 442
&H#E 15
2 REEHEE HEEY

4 fu Hg - BKksTE g H = fif ] = 5 &

RBE 54 kN2 2L

H 0.40 3, 525. 00 1,410/2.00H / 8H
A FRP D 70PS%!

H 0.40 79,707.00 31,882|8H
Bl HEm

A 0.40 47,100. 00 18, 840
B2 F A4

A 0.40 36, 900. 00 14, 760
RIEBF

A 0.40 34, 600. 00 13, 840
BKL (F4/3—) 10mLL _E20msk i3

A 0.40 56, 600. 00 22,640
BAKTHBIE (B4 /\—) 10mLL _E20msk i3

A 0.40 56, 600. 00 22,640
tmmyg

A 0.40 29,700.00 11, 880
MM 2E0Y

% 10. 00 137,892.00 13,789
& g 1YEZERED - 1.00th = 151, 681.00 151, 681




(N(IES

E5:16
£ BABREEN AR - FEE) EED)
% # Bk - kT A Bifi 5 B B & 1 W=
R
M 1.00 3, 000, 000. 00 3,000, 000
& &t EFREN - 1.00x 3, 000, 000. 00 3,000, 000
&5 11
B BABREEL OKE - HHE) BT
% # Bk - kT A Bifi 5 B B & 1 W=
R
M 1.00 1,684, 800. 00 1, 684, 800
& &t EFREN - 1.00x 1,684, 800. 00 1, 684, 800
&5 :18
27 AEE 1250
73 Bk - kT A Bifi 5 B B & 1 W=
B E R
A 1.00 54, 600. 00 54, 600
AR
A 3.00 47,100. 00 141, 300
AR BE
A 1.50 36, 900. 00 55, 350
AEHF
A 0.50 34, 600. 00 17,300
AR EY7 Yo
% 1.00 268, 550. 00 2, 685
& & EEREN - 1.00L 271, 235. 00 271, 235




(N(IES

EE 19
2% BEHM TS FUAE s 1EHY
o) [ I - BKTE B B = i ] W = i
XBE SAFRY 2
H 0.40 3, 525. 00 1,410/2.00H / 8H
SREM FRP D 70PS%E! 3.0t
H 0.40 79,707.00 31,882 |8H
bilh=g5:01]
A 0.40 47,100. 00 18, 840
bilh=g 540k
A 0.80 36, 900. 00 29,520
RIEBNF
A 0.40 34, 600. 00 13, 840
MM 2E0Y
% 2.00 95,492.00 1,909
& it YEXEED - 1. 00 = 97,401.00 97, 401
&5 :20
2 EEEYRE g 1[EHY
4 fu Hg - BKksTE g H = fif ] = 5 &
RBE 54 kN2 2L
H 0.20 3, 525. 00 705|2.00H / 8H
AEM FRP D 70PS%E! 3.0t
H 0.20 79,707.00 15,941 |8H
Bl HEm
A 0.20 47,100. 00 9,420
B2 F A4
A 0.40 36, 900. 00 14, 760
RIEBF
A 0.20 34, 600. 00 6,920
MM 2FE0%
% 2.00 47,746.00 954
& g 1YEZERED - 1.00th = 48, 700. 00 48, 700




(N(IES

&5 .2
2% (FEEVMRAED 1 1[EZHY
o) [ I - BKTE B B = i ] W = i
REBE 4 kN2 2L
H 0.30 3, 525. 00 1,057/2.00H / 8H
SREM FRP D 70PSZE! 3.0t
H 0.30 79,707.00 23,912 |8H
bilh=g5:01]
A 0.30 47,100. 00 14,130
bilh=g 540k
A 0.30 36, 900. 00 11,070
BIEBF
A 0.30 34, 600. 00 10, 380
BKRE(F A=) 10mR &
A 0.30 52, 200. 00 15, 660
BAKTHBIE (B4 /3—) 10mR &
A 0.30 52, 200. 00 15, 660
rt@|yE
A 0.30 29,700. 00 8,910
MM 2E0Y
% 2.00 100, 779. 00 2,015
& it 1EERESN - 1.00Hh = 102, 794. 00 102, 794
&HS 22
2 FEEMRAED g 1[EHY
4 fu Hg - BKksTE BT H = fif ] = 5 &
RBE SA YA
H 0.30 3, 525. 00 1,057/2.00H / 8H
AEM FRP D 70PSE! 3.0t
H 0.30 79,707.00 23,912 |8H
Bl HEm
A 0.30 47,100. 00 14,130
B2 F A4
A 0.30 36, 900. 00 11,070
RIEBF
A 0.30 34, 600. 00 10, 380
BKL (FA/3—) 10mR 38
A 0.30 52, 200.00 15, 660
BAKTHBIE (B4 /\—) 10mR 38
A 0.30 52, 200.00 15, 660
tmmyg
A 0.30 29,700.00 8,910
MM 2FE0%
% 2.00 100, 779. 00 2,015
& g 1YEZERED - 1.00th = 102, 794.00 102, 794




(N(IES

&5 :23
2 KEEMRAED Hhm 1[EHY
o) [ I - BKTE B B = B ] W = i
TEE SArA 2L
H 0.40 3, 525. 00 1,410/2.00H / 8H
SREM $D 150PSE! 15. 0t
H 0.40 136, 949. 00 54,779 |8H
bilh=g5:01]
A 0.40 47,100. 00 18, 840
bilh=g 540k
A 0.40 36, 900. 00 14, 760
BIEBF
A 0.80 34, 600. 00 27,680
MM 2E0Y
% 2.00 117, 469. 00 2,349
& it 1EERESN - 1.00Hh = 119, 818.00 119, 818
BS54
2 KEEMRAED g 1[EHY
4 fu Hg - BKksTE BT H = B ] = 5 &
RBE SA YA
H 1.00 3, 525. 00 3,525|2.00H / 8H
Bl HEm
A 1.00 47,100. 00 47,100
B2 F A4
A 1.00 36, 900. 00 36, 900
RIEBF
A 2.00 34, 600. 00 69, 200
MM 2FE0%
% 2.00 156, 725. 00 3,134
& g 1YEZERED - 1.00th = 159, 859. 00 159, 859




(N(IES

S :25
B SHTHER IEE D)
G2 R B - k& Bl 2 B ' % B = & =
SIHTEER EMISoo by
B 16. 00 31, 000. 00 496, 000
SIHTEER BTV o bY
B’k 8.00 31, 000. 00 248, 000
SIHTEER EEEY
B’k 4.00 34, 000. 00 136, 000
SIHTEER TEEHO
B’k 12. 00 54, 000. 00 648, 000
SIHTEER TEEHQ
B’k 4.00 37, 000. 00 148, 000
SIHTEER KEEHOD
B’k 25. 00 41, 000. 00 1,025, 000
SIHTEER KEEHQ
B’k 2.00 41, 000. 00 82, 000
a &t E3ERER - 1.00xK 2,783, 000. 00 2,783, 000
S : 26
2 BBERR ey
% L3 Hg - BIKTE Bl 2 L i * @ m = & &
RAE 54 bR 2
=] 0. 40 3, 525. 00 1,410/2.00H / 8H
Al FRP D 70PS#E!
=] 0. 40 79, 707. 00 31, 882|8H
2 A
A 0. 40 47,100. 00 18, 840
B E R Am
A 0.40 36, 900. 00 14, 760
REBF
A 0. 40 34, 600. 00 13, 840
BKE (FA/13—) 10m L £ 20mk 5
A 0. 40 56, 600. 00 22, 640
BKETHBE (F1 /1) 10m L £ 20mk 5
A 0. 40 56, 600. 00 22, 640
t@my g
A 0. 40 29, 700. 00 11, 880
MM EX O
% 10. 00 137, 892. 00 13,789
a g EZERES 1. 004 = 151, 681. 00 151, 681

10




(N(IES

&5 .21
2% . REERM X4y
£ b3 g - ikt Bify H = B ® & = fi&
TEERMN FRP D 180PS%!
H 19. 00 152, 020. 00 2,888,380/6.00H / 8H
HMHE EXZYOY)
% 0.50 2,888, 380. 00 14, 441
& H 1YEXEBESN : 1.00= 2,902, 821.00 2,902, 821

11




Ff

HfiRES 1
BifiRAH : BE 5S4 b\ 2L 1H%Y 2.00H / 8H
G2 R Bk - BIKTE Bl H 8 B 8 i & &
VP
L 7.00 153. 00 1,07
BR (S bNVIAVIVIVUOY - ZH (REEENE HRE2.0L
ExEf]) i 2.00 287.00 574 18 BR B
BR (S bNVIAVIVIVUOY - ZH (REEENE HRE2.0L
ExE]) B 1.19 1, 580. 00 1,880 #HAAe
a Ell 3,525
Hifi&RES : 2
HiffiZR&F : 88 FRP D 70PSE! 1H4Y 8H
5 G2 R Bk - BIKTE Bl H 8 B 8 i & &
HA
L 44. 00 104. 00 4,576
=R E
A 1.20 31, 100. 00 37,320|8=1.20
BH (&M [FRPR]) D 70PSE 3. 0GT
B 1.00 3, 210. 00 3,210 EERH
BH (&M [FRPR]) D 70PSE 3. 0GT
B 1.65 3, 360. 00 5,544 a=1.65 3=
BEERE
% 26.15 50, 650. 00 13,244
—REEE
% 24.75 63, 894. 00 15, 813
= & 79, 707




Ff

Hifi&RES : 3
HiffiZ&k&% : ZAZAM FRP D 70PSE! 3.0t 1B%Y 8H
£ i Bk - BIKTE BfT 2 fif 28 i & &
ER:T)
L 44.00 104. 00 4,576
=ikin 8
A 1.20 31, 100. 00 37,3201 3=1.20
BH (@M [FRPE]) D 70PSE! 3. 0GT
=] 1.00 3,210.00 3,210 LA
BH (@M [FRPE]) D 70PSE! 3. 0GT
=] 1.65 3, 360. 00 5,544| a=1.65 #“AR
RiGEEE
% 26.15 50, 650. 00 13, 244
—REEE
% 24.75 63, 894. 00 15, 813
a &t 19, 707
HifixES 4
HiffiZR&# : SAEM D 150PSE 15.0t 1B%Y 8H
£ i Bk - BIKTE BfT 2 fif 28 i & &
EihA
L 97. 00 104. 00 10, 088
=ik 8
A 1.20 31, 100. 00 37,3201 3=1.20
B (amm ) D 150PSE! 15.0GT
=] 1.00 14, 700. 00 14,700 EERH
B (amm ) D 150PSE! 15.0GT
=] 1.65 15, 100. 00 24,915| a=1. 65 #AA
RigEEE
% 26. 15 87,023. 00 22, 756
—REEE
% 24.75 109, 779. 00 27,170
a g 136, 949




Ff

HifiR&ES : 5
BffiRBH : T2EHRM FRP D 180PSE 1H%Y 6.00H / 8H
% R Bk - BIKTE Bl 2 fif 8 i & &
FimA
L 317. 00 104. 00 3, 848
=k E
A 1.20 31,100. 00 37,320/ 3=1.20
LEME
A 1.20 24, 800. 00 29,760 3=1.20
BH (&M [FRPR]) D 180PSE 10.0GT
B 1.00 9, 420. 00 9,420 EELH
BH (&M [FRPR]) D 180PSE 10.0GT
B 1.65 9, 850. 00 16, 252 | a=1. 65 #HAAe
BSEEE
% 26.15 96, 600. 00 25, 260
—REEE
% 24.75 121, 860. 00 30, 160
& 5 152, 020




